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1.

PART - A (i)
ot — A (i)

GENERAL STUDIES
What is the rank of Chhattisgarh State

Power Generator Company Ltd. in
State sector as per report of Central
Electricity Authority New Delhi in the
year 2019 — 20 ?

(A) First

(B)

(C) Third
(D) Fourth

Second

Which of the following State of India
touches maximum State boundaries ?
(A) Karnataka

(B) Uttar Pradesh

(C) Madhya Pradesh

(D) West Bengal

Which of the following is not correct
about Teesta river ?

(A) Teesta river flows through Sikkim
) It flows through West Bengal
(C) ltrises in Western Himalayas
)

It is a tributary of the river
Brahmaputra

32102/MB - BB/RCE - M

[T AT
T4 2019 — 20 H HE Terggd wiferemtor 8
foeeht it fUrd & SER ©. 7. W, 1. 9.
% e T A AR @R ?

(A) v

(B) faim
(C) T

<

(D) =g

A o (IR § & HiH-T T ! S
SAftreran U= < et § foerdt @ 7
(A) Hieh

(B) 3T Uew

(C) 5= we

(D) dufvaw e

frefafea 4 s-on fier 76 & SR A
qcd T8l 8 ?

(A) e 76 fafawn & gt S5dt @
(B) 8 UfTaw st ¥ Bt & 8
(C) =g ufyendft femmera @ feperdt &
(D) & SEIH TS ! Th HERIH A4l &

TF & % foTe T
Space for Rough Work
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4.

Indira point is located in which of the
following ?

(A) Great Nicobar
(B) Little Andaman
(C) Car Nicobar

(D) None of the above

Environmental Action Programme
(EAP) does not focus on

(A) Conservation of biodiversity
(B) Conservation of soil and moisture

(C) Control of industrial pollution and
waste

(D) Tackling of rural environmental
issues

Among the following which one is
thermosetting plastic ?

(A) Polyvinyl chloride

(B) Polyurethane

(C) Polystyrene

(D) Polythene

Which statement is incorrect with
reference to graphine ?

(A) ltisabidimensional substance having
excellent electrical conductivity.

(B) It is made of silicon having high
transparency.

(C) Iltisusedin LCD and LED.

(D) It is more harder than diamond.

32102/MB - BB/RCE - M

4. feu @nge ffaRad § & frat A g 7

TR TR 9™ (EAP) = 4
q ford wiohd () T8 e 2 7
(A) S Tafaerar 1 geam

(B) wer ud FHt w1 TE

(C) ST=NRT JGYUl Ta {ATRTe WX o=y

(D) wmior wtevfi ggi & fued &

=1 o Tem He-H1 Tk YA Wi § ?

THH % Fed HH-d1 HoF T8 T8 & 7

(A) e fyzmmi were 3 et dum
TTeTehdT 399 & |

(B) =g 3= UReRiare fafereria @ ffda
B B

(C) 35 399 LCD Wa LED H &iam 2 |
(D) ug &R I go1 H SITST HoR 7 |

% & & o em
Space for Rough Work
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8. Hypokalemia is due to deficiency of 8. BEUIhiltT = & &Y & %R Bl 8
(A) Sodium (A) Fifszm
(B) Iron (B)
(C) Calcium (C) hafrm
(D) Potassium (D) diefrm
9. What will be input subsidy granted per 9. a¥ 2021 — 22 &% fou TdETE THR *

acre to farmers by Chhattisgarh Govt. g1 fopamT <t ufd The fohaT 399 TEmEa
for the year 2021 — 22 ? & ) 2 ’
(A) < 10,000/- (A) < 10,000/-
(B) ¥9,000/- (B) ¥ 9,000/-
(C) % 9,500/- (C) % 9,500/-
(D) None of the above (D) SWE § H IS Tl

10. What is the percentage of Reserve 10. SUERTG TS 1, ol ITeIied & H STferd
Forest in total forest covered area in o 1 IfSd w7
Chhattisgarh ? ‘
(A) 44.2% (A) 44.2%
(B) 43.13% (B) 43.13%
(C) 40.22% (C) 40.22%
(D) 16.65% (D) 16.65%

11.  Whatis share of major mineralsin Gross 11. 992020 - 21 ﬁ@?ﬁwa&% T 3T
Revenue Income of Chhattisgarh in the ¥ e WS o e  w R e
year 2020 — 21 ? ’
(A) 92% (A) 92%
(B) 94% (B) 94%
(C) 96% (C) 96%
(D) 90% (D) 90%

% & o fou wom
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12.  New industrial policy of Chhattisgarh 12. BTG i 78 3TENfireh =fifel <t Trarer foha
is related for the years TAIYE ?
(A) 2018 to 2024 (A) 2018 ¥ 2024
(B) 2019 to 2024 (B) 2019 #2024
(C) 2020 to 2025 (C) 2020 % 2025
(D) None of the above (D) 3IWed T g &l
13.  Which of the following Buddhist monk 13. form dig fug 4 wfass &1 9ef gigse
o Buddnistoounel 7 R ST 7 G e o ¢
(A) Nagarjuna (A) AT
(B) Parsva (B) =
(C) Aswaghosha (C) TvaE
(D) Vasubandhu (D) =gsY
14. After which battle Humayun crossed 14. T8 Ig & 91G g A Th TA-Tohedl
the Ganges with the help of a 6T Tee T T T B IR fRAT o7 ?
water-boat ?
(A) Bilgram (A) T
(B) Kannauj (B) =t
(C) Chaussa (C) =
(D) Ghagra (D) =ra
15.  Who of the following founded the 15. fr=fafea @ @ fea 1887 1 wiedan v
Prarthana Samaj in 1887 ? 6T TATIAT bl oft 7
(A) Atmaram Pandurang (A) SATHT ZTT
(B) Dadoba Pandurang (B) <IESIaT UIgdT
(C) Gopal Ganesh Agarkar (C) TTUTE O 3R
(D) Jyotiba Phule (D) faaT ot
TF & o foru wam
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16.

Match List — A with List — B and select
the answer from the codes given below
the Lists.

List— A List- B
1. Mitra Mela (1899) a. Lala Har
Dayal
2. Anushilan Samiti b. Rashbehari
of Dacca (1902) Bose
3. Ghadar Party (1913) c. Savarkar
Brothers

4. Indian Independence d. Pulin Das

League (1942)

(A) 1-c,2-d,3-2a,4-b
B) 1-b,2-¢,3-d,4-a
(C) 1—-c,2-d,3-b,4-a

(D) 1-b,2-a,3-c,4—d

16.
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Tt — Al g — B & frarsa stk gia
% = feu o 3 A @ wE I g |
- A it - B
1. i oo (1899)  a. TeT & A
2. @Rl I e b, TEeE 9|

gfufa (1902)
3. TR U (1913)  c. G 9Y

4. Sfemm 3fefie d. gfem q@
T (1942)

(A) 1-c,2-d,3-a,4-b
B) 1-b,2-¢,3-d,4-a
(C) 1—-c,2-d,3-b,4-a

(D) 1-b,2-a,3-c,4—d

17.  In which mineral product Chhattisgarh 17. fom @fiS 3 4 odidne &1 wid §
has more share in India ? facm 1R 2 7
(A) Coal (A) ST
(B) Iron-Ore (B) Fﬁg_m
(C) Lime-stone (C) TAT-TeeR
(D) Bauxite (D) EIEIE
TF & % foTe T
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18. When was the political organization 18. 39 TSI H USHIfde e & g’ 99
‘State Congress’ established in this zoTf =% 2
State for the first time ? SR P §'§ '
(A) 1938 (B) 1922 (A) 1938 (B) 1922
(C) 1930 (D) 1940 (C) 1930 (D) 1940
19. When did the Government dissolved 19. Tfema a3 e T 819 T BHR
‘Raipur District Council’ after the start 3 T e wiftet <t e A fom o 7
of Civil Disobedient Movement ?
(A) 13 April 1930 (A) 13 3731 1930
(B) 21 May 1930 (B) 21 ug 1930
(C) 2 June 1930 (C) 2771930
(D) 12 June 1930 (D) 12371930
20. What is the answer of the following 20. Ty=fafad S (Tge)
riddle ? Trrep oS gann 3re e el o o
‘Nankun Chirai duwa asan Pet Kahan — 65[521 R 7
Jabe Chirai Ratanpur des’ X '
(A) Gram (Dal) in Batlohi (Pot) (A) weeiiel | el
(B) Letter (B) ==
(C) Birdin atree (C) us w fufga
(D) Star (D) ama
21. Dandakaranya is not situated in which 21. cehrvy fefaled o @ forg v=a 4 fa
of the following State ? e,
(A) Chhattisgarh (A) BHETE
(B) Odisha (B) 3tifgm
(C) Andra Pradesh (C) 3Ty e
(D) None of the above (D) 3% H A B &
TF & o foru wam

Space for Rough Work
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22. Lord Ram entered Chhattisgarh 22. WEH UMW A Sdae ¥ fora et @ gow
through which district ? T ot 7
(A) Jashpur (A) STRIYL
(B) Surguja (B) €U
(C) Korea (C) =it
(D) None of the above (D) 3% W | HIS Tl
23. In which year ‘Human Development 23. fopm a9 & ‘e o T o
Report’ “Multi-dimensional Poverty “Tg- TR U Faehieh” Sl STOATT
Index (MPI)” is implemented ? ™Y
(A) 1997 (B) 2005 (A) 1997 (B) 2005
(C) 2010 (D) 2015 (C) 2010 (D) 2015
24. When “National Rural Employment 24. e “TSHT UTHIOT USHTR TR STffem”
Guarantee Act’ is given new name T A “HEeAT i TS e e
as “Mahatma Gandhi National Rural A 2T 1:3?11 )
Employment Guarantee Scheme” ? T 1
(A) September 2005 (A) faamst 2005
(B) February 2006 (B) wEd 2006
(C) October 2009 (C) FrsT 2009
(D) October 2007 (D) 3FgsiX 2007
25. In which year the growth rate of GSDP 25. @9 2012 — 13 ¥ a9 2020 — 21 i 3@y
of Chhattisgarh in constant price has H SETE o Tohel U9 T 3cE hl (g
been negative during 2012 — 13 to o fRR Hiudl W R a¥ T @R 7
2020 -21 7
(A) 2013-14 (A) 2013-14
(B) 2016 —17 (B) 2016 -17
(C) 2019 -20 (C) 2019 -20
(D) 2020 — 21 (D) 2020 — 21
TF & % foTe T

Space for Rough Work
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26. Which sector is not part of secondary 26. e daET ° SiH-a1 & fediEes
sector in Chhattisgarh economy ? & T 9T & R 7
(A) Manufacturing Sector (A) Tafmior &=
(B) Construction Sector (B) fomfor &=
(C) Electricity, gas and water supply (C) foegd, M wa S« Imyfd
(D) Mining and quarry (D) & Td G
27. Who of the following presided over the 27. Tr=fefea @ @ fhem 1947 ¥ 3fezm Fvma
session of Indian National Congress in HIUY hI eI S off 7
1947 ?
(A) Jawaharlal Nehru (A) AT d8%
(B) Acharya Kriplani (B) =T HUAH!
(C) Dr. Rajendra Prasad (C) . Telg yHTe
(D) Maulana Azad (D) =AM 3TTTE
28. “A majority of the total membership of 28. “Ush Gehed I Ta8Tsh HEE & IIh T
the house and a majority of not less ¥ Iid W % 0 ¥eT 6l $o qee
than 2/3 of the members qf the house S — T ST g T
present and voting is required to pass . )
a resolution or a bill from the each aﬁm T 2/3 FEA I 2|
houses of parliament”. 34 Hed | gafea #m 8 7
In this context which are matching ?
i. Constitution Amendment Bill I wfereT weme fagas
i. To approve the resolution of 0. 3 'E;'E';'E“ SGETSO T STFHIC P
emergency proclamation bl Hehed
iii. A resolution to dismiss a judge i, weiee =T % T AR
of Supreme Court qe=gd bl bl HeheH ‘
iv. A resolution to dismiss the iv. Tsgafd i TG T HI Hehed
President
(A) i (A) i
(B) i, ii (B) i, ii
(C) i, ii, iii (C) i, ii, iii
(D) i, ii, iii, iv (D) i, ii, iii, iv
TF & o foru wam
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29.

30.

31.

On which matter the both houses of
Parliament has equal rights ?

i. Topassa Constitution Amendment
Bill

ii. To pass a dismissal resolution
against President

iii. To pass a dismissal resolution
against Vice President

iv. To pass a Finance Bill

(A) Itis a Natural Right
) Itis a Fundamental Right
(C) ltis a Constitutional Right
)

It is a Legal Right

A certificate showing that a government
or company has paid to have a certain
amount of carbon dioxide removed
from environment is called

32102/MB - BB/RCE - M

29. form fosa & Hoe & THT Hedi & 3fer
HAHE 8 ?

i. gfaae gened faeges i s

ii. Trsgafd % fowg Tg=gid Heped Wi
T

iii. IU-Tsgufa & favg de=gfd Gehed
i ST
iv. T faeres i@ e

—~ o~
O
N N N N

30. “Hufd ol 3R &l d g w1 2 ?

31. YHIT 9, ST Ig Ui sHdl & foh T a1
FHI gTeRr o U ffvad wmn d wrea

~ C o o o
SUIHHeS [HSehllHd <nid % [l Hldl-

Al 8, HEcATdl &

(A) Carbon foot print (A) HEF Pe e

(B) Carbon credit (B) hTeH shige

(C) Carbon dating (C) wreq efém

(D) Carbon index (D) hTEA 3edd
% & o fou wom

Space for Rough Work
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32. In November — 2020 which two super 32. 99 — 2020 ¥ %I9-¥ @ ¥Rd % g
computer of India ranked under top FIIH fova % gat=a 500 TR FPA 3
500 super computer of the world ? T R @ 7
(A) Pratush and Param Padam (A) T TS T qeH
(B) Param-10000 and Param-8000 ( ) WE-10000 Td WH-8000
(C) Mihir and Param Siddhi (C) fufex wa ww fag)
(D) Param Yuva-2 and Param-8000 (D) W JAT1-2 Td TWH-8000
33. Of the following Indian Satellites 33. T v 3wl § @ s -a1 Ush TV i
which is intended for transmitting % G99 <k foru S7fyS femam ¢
TV programmes ?
(A) INSAT-3A (B) INSAT-A A) 382 -3A (B) 2 -A
(C) INSAT -3C (D) INSAT -3E ) e —3C ) $9¢ —3E
34. Who of the following established the 34. HIEATE 1 <A Tohe TeuTfuq foha ?
philosophy of Syadwad ?
(A) Parsvanath (B) Mahavir A) T (B) e
(C) Neminath (D) Anantanath (C) =i (D) Y
35. Whattype of song is ‘Mangrohan Song’ 35. 39 USH ol ‘WA M fohe TJehl <1
in this State ? fiag?
(A) Ceremonial song (A) T&hR Tfa
(B) Festival song (B) Tef Tﬁ’d
(C) Romantic song (C) a7
(D) Religious song (D) %JTﬁfr%Tﬁ’d
36. Which poet of this State has written 36. 39 UST & [ohH Shid ol T BATGI -
‘Chhattisgari Suraj’ ? ST 2 ?
(A) Giriwardas Vaishnav A) firfee@ Jwre
(B) Pt. Kapilnath Mishra (B) . iyery fas
(C) Babu Bodhi Singh ‘Prem’ (C) =g =ieht &g sw
(D) Keyur Bhushan (D) R Ul
% & & o em

Space for Rough Work
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37. Under which tree ‘Sarhul’ festival is 37. 39 USF 6l 3UA SN T Ier fhe
celebrated by Oraon tribe ? g5 ST E Y
(A) Sal (A) g
(B) Peepal (B) dius
(C) Bargad (Banyan tree) (C) wuTq
(D) Awnla (D) 3HTeet
38. Who of the following is the main God 38. 39 TS o Tfefigt STt & Y@ <
of the Birohar tribe of this State ? S ?
(A) Shiva (B) Sun (Suraj) (A) T (B) &
(C) Brahma (D) Bhim (C) w=m (D) g
39. On which matter the both houses of 39. frm fowa o U=u faummvea & gH Teq
State Legislature Assembled together ? Tk 919 93d § ?
i. Inthe occassion of special address i. TSI o AU o HATE W
of Governor
i. To consider the deadlock on a ii. wferte Tened fagees O ey
Constitutional Amendment Bill ) fo=Er %@
iii. To consider the deadlock on an iii. TEReT fogEe § ey W feEr
Ordinary Bill Gl
iv. To consider the deadlock on a iv. ford fagees & Termetiy W foem 2
Finance Bill
(A) i (A) i
(B) i, ii (B) i, i
(C) i, ii, iii (C) i, ii, iii
(D) i, ii, iii, iv (D) i, ii, iii, iv
TF & % foTe T

Space for Rough Work
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40. |If the strength of a State Legislative 40. qﬁ@;wﬁwwaﬁﬁwg@[
Assembly is 50. Then what shall be
quorum ? 50 &, I Tl feRerT BT ?
(A) 5 (B) 10 (A) 5 (B) 10
(C) 26 (D) 17 (C) 26 (D) 17
41. Prime Minister Narendra Modi’s vision 41, U TEEHIG 1 e & -
is —which statement is correct from the A P-TT R TR 2 7
followings ? ‘
(A) To make India 5 Trillion dollar (A) Y i 5 feferm srer srderemen
economy ECICH]
(B) To make self-reliant India (B) ATeq-FR 9Ra s
(C) To make farmer's income double (C) forumi sl 3 =l I AT
(D) All the above (D) vk |eft
42. World Economic Outlook (WEQ) has 42, fava amfoes ufiged 9 3AN @R 7 6
estimated that India will become ¥ 2019-20 T TR T TR & SR
largest economy of the World; in terms &% &9 H 9Rd favag EC)|
of US $ in the year 2019-20. FIEET & SR
(A) Fourth largest Economy (A) =g 9t Tdereen
(B) Third largest Economy (B) Tt St Ireierawen
(C) Fifth largest Economy (C) U=H s<I refeaen
(D) Sixth largest Economy (D) B3t gt refeaEen
43. Who was the author of ‘Tabagat 43. “deehd AT ST oIk i AT ?
Nasiri’ ?
(A) Hasan Nizami (A) g9 et
(B) Minhaj-us-siraj (B) fre~-3u-fs
(C) Abu Bakr (C) 3 &ish
(D) Amir Khusrau (D) 3R gud
% & & o em
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44. Which of the following is the main 44. NI HER(d hH T fororwar fF=afafaa
characteristic of Indian culture ? FEFEm-d 27
(A) Federal characteristic (A) et ferwan
(B) Provincial characteristic (B) et fersrean
(C) Central characteristic (C) =g fasman
(D) Unity in diversity characteristic (D) 3ehal H Tshal fermrwan
45. In which category “MSME” will be 45. “geH, T T AL J07 o IWHA (MSME)”
included in Industry ? 3T ° g 9ol § sfier foru SR 7
(A) Manufacturing (A) farfmion
(B) Construction (B) fmfm
(C) Mining and Quarry (C) T T 3
(D) All the above (D) 3w &ft
46. On which river “Mini Mata Bango 46,  “Torft o ST afErSET foRe TS o ST
Project” is constructed ? TR ?
(A) Mahanadi (B) Sheonath (A) HEW! (B) framy
(C) Hasdeo (D) Kelo (C) zocd (D) whedt
47. Which factor is responsible to reduce 47. 99 2020-21 ¥ AR e i i
the economic growth rate of India from GG & I (—)9.5 Ffawrd & (-)7.3 wfdwa
(-)9.5 percent to (-)7.3 percent in the T Y B & [T HH-TT Th ISR
year 2020-21 ? @8 ?
(A) Higher growth rate in Agriculture (A) ﬁ 4 3= Fﬂf@ ol
(B) Higher growth rate in Industry (B) 3T H 3=9 6§ &
(C) Higher growth rate in Service (C) ¥ &7 # 3I=w dgfg &
Sector
(D) Higher growth rate in Trade (D) MR ¥ I=9 Fgfg X
TF & % foTe T
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48. Which statement is correct about 48. AT Wﬁaﬁﬁ%mﬁqﬁq_w
agriculture in Indian Economy ? FoT TE 2 7
(A) Agriculture is the backbone of (A) HY IR Sreferaen $i fi 7 |
Indian Economy.
(B) Agriculture is the pivot of Indian (B) Y Rt sreferawen i gl 2|
Economy.
(C) Agriculture is an important (C) Y IR refeuraean o Ush Hacaqul
sector of Indian Economy. a7 2
(D) Agriculture is the source of (D) Y WA AR Sl STTcehT ol T8 3 |
livelihood of Indian people.
What minimum support price for paddy 49. 99 2021-22 % foTt gl TepR o & o fofw
is fixed by Central Govt. for the year WW FRAuha a2
2021-22 ? o . 8
(A) X 1,940/- per quintal (A)  1,940/- 9fd fagea
(B) ¥ 2,040/- per quintal (B) % 2,040/- Ut fadea
(C) ¥ 1,990/- per quintal (C) T 1,990/- ufa faest
(D) % 2,500/- per quintal (D) % 2,500/- wfa fadest
Match List — | with List — Il and select 50. ¥t — | ol T - 1| & gafod s fafafaa
correct answer using following codes. e U Hal I FFd T |
List -1 List— 1l =il - | =t - I
National Green 1. 1977 a. e ¥ fesge 1..1977
Tribunal
Biodiversity Act 2. 1980 CIRISEC IR T ReE 2. 1980
Environmental 3. 2002 TR TIaRH Tae 3. 2002
Protection Act .
Forest Conservation Act 4. 2010 BT FHIRATA TH 4. 2010
Water Cess Act 5. 1986 qTeT TH TR 5. 1986
a b c d e a b c d e
(A) 3 5 2 1 4 (A) 3 5 2 1 4
B 4 3 2 5 A B4 3 2 5 A
(C) 4 3 5 2 1 (C) 4 3 5 2 1
(D) 1 2 3 4 5 (D) 1 2 3 4 5
TF & o foru wam
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PART - A (ii)
T — A (ii
MATHEMATICS (i) o
51. Ifa:(b+c)=1:2andc:(a+b)=3:4, . Aca:(b+c)=1:2Wc:(a+b)=3:
then b : a is equal to 2 A b:a SRR
(A) 5:9 (B) 7:9 (A) 5:9 (B) 7:9
(C) 5:7 (D) 7:5 (C) 5:7 (D) 7:5
52. The expenses of A and B are in ratio 52. AT B @d &l 39d 3:2 713,000 %.
3 : 2. A sum of Rs. 3,000 is equally FI 3T e UL fadi R S R
distributed between them. If A saves
Rs. 600, then B saves Rs. e A 600 F. 1 T Fr %’ @ B
=d BT %,
(A) 600 (B) 900 (A) 600 (B) 900
(C) 500 (D) 400 (C) 500 (D) 400
53. If a number is increased by 300, it 53. dfe T &I bl 300 S M ATl 7, df 98
becomes 130% of itself. The number is @I &1 130% Bl ATl 2 | 98 9 &1 &
(A) 1,120 (B) 960 (A) 1,120 (B) 960
(C) 500 (D) 1,000 (C) 500 (D) 1,000
54. The decreasing order of 54. 2 3'5, o] '2, o] '5, 22 a1 gear R
35 12 15 2 37 24 27 7
2—,2—,2—,2—is
37 24 27 7
A 232 515 5,2 ,1.2 A 232 515 5,2 ,1.2
3.7 27 7 24 3.7’ 7 7 24
35 1.5 12 .2 35 15 1.2 .2
B) 2 2 2 2— B , 2 , 2 ,2—
B) 37 27 24 7 B) 37 27 247
2 1.2 1. )
©) g 21.2’21.5,23.5 ©) 2%, 2 5,235
7 24 27 37 7 24" 27 37
(D) 2E 21;5,22, 2§ (D) 22 21;5,22, QE
2. 27 7 3.7 2. 27 7 3.7
TF & % foTe T
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1 1
55. 1+ = 55. 1+ =
2 2
1+ 1+
4 4
3+ —7 3+ —7
1+~ 1+
A 4 A 4
A - A -
7 7
B 7 ®) 7
3 3
© 3 © 3
(D) None of these (D) 3 ¥ His &l
56. +/0.00002209 = 56. +0.00002209 =
(A) 0.0047 (A) 0.0047
(B) 0.00047 (B) 0.00047
(C) 0.047 (C) 0.047
(D) 0.0407 (D) 0.0407
57. Which one of the following numbers is 57. = @ @ - @@ 99 ¥ Uk
completely divisible by 99 ? faafa g 2
(A) 406089 (B) 114345 (A) 406089 (B) 114345
(C) 199155 (D) 137346 (C) 199155 (D) 137346
58. Which natural number is nearest to 58. 2515 % fshedd, 98 WTehd HE&AT 1 2,
2515, which is completely divisible by S 65 @ qouia: foefor & & ¢
65 ?
(A) 2535 (B) 2585 (A) 2535 (B) 2585
(C) 2510 (D) 2600 (C) 2510 (D) 2600
% & & o em
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59. The largest 5-digit perfect square 59. 5-37hi ATl TH TSI qUT o JTehfd
natural number is a8
(A) 95481 (B) 92416 (A) 95481 (B) 92416
(C) 99856 (D) 99946 (C) 99856 (D) 99946
60. 1If 30% of A =15% of B, B =20% of C 60. afc AI30% =B %l 15%, B=C = 20%
and A = x% of C, then the value of x is AT A = C %l x% &, a1 X 3l T &I
(A) 10 (B) 15 (A) 10 (B) 15
(C) 25 (D) 12 (C) 25 (D) 12
61. If thenumeratorofafractionisincreased 61. Ife ueh sl & 3791 &l 140% SE™T A1 2
by 140 ./o a.n(.j the denominator of T EFN 200% TS AT 2, A IR
the fraction is increased by 200%, the 14
resultant fraction is E What is the fira 27 ST B 2 qd firar 7 & 7
- : 27
original fraction ?
27 20 27 20
A) 3o B® > (A) 5o (B) 57
18 17 o 18 o 17
© 27 ©) 20 © 27 ©) 20
62. A man bought goods worth Rs. 6,000 62. T Afad 6,000 . oI i FEU Gl
Z?d iOItd ha}lf of themtat a %ar:n of 1”(12[‘;{0 wd et s 10% @1 W A" i | 9y
what gain percent must he sell the o &
remainder so as to get a gain of 25% g [ fom T TS S AR
on the whole ? Hehel W19 25% Bl 7
(A) 20% (B) 30% (A) 20% (B) 30%
(C) 25% (D) 40% (C) 25% (D) 40%
TF & % foTe T
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63. |fP=2X3X5X5X7X7X7, 63. ﬂ'&-{P:2x3x5x5x7x7x7’
Q=3x3x4x5x7,and R=HCF Q=3x3x4x5x7, IR = P ae
of Pand Q, then R =

Q 1 HEqH FHIEds, a9 R =
(A) 420 (B) 1470 (A) 420 (B) 1470
(C) 245 (D) 210 (C) 245 (D) 210

64. IfLCMofSand T =70, HCF of S and 64. Ife STUTT &1 LCM = 70, S a1 T <l
T=5andS + T =45, then the numbers HCF = 5d1 S + T = 45, a9 &&md
S, Tare S, T?

(A) 17,28 (B) 35,10 (A) 17,28 (B) 35,10
(C) 25,20 (D) 14,35 (C) 25,20 (D) 14,35

65. If P =0.02% of 100000 and Q = 2% 65. afg P =100000%10.02% a1 Q = 1000
of 1000, then which of the following is I 2%, q9 Frefeiad § & i 9 8 7
true ?

(A) P>Q (B) P<Q (A) P>Q (B) P<Q
(C) P=Q (D) P+Q=2.02 (C) P=Q (D) P+Q=2.02

66. The principal that amounts to Rs. 1,323 66. 5% T3halg TS QW Gl TN H T TUMT
in 2 years at 5% per annum compound W E, 1,323 B9 aredt S ofyr anft =.
interest compounded annually is Rs. ’

(A) 1,050 (B) 1,200 (A) 1,050 (B) 1,200
(C) 960 (D) 1,220 (C) 960 (D) 1,220

67. What is the difference between the 67. 4% 9 a9 =S ¢ W 6,000 &. T YT
compound interests on Rs. 6,000 for 199 T <Ishafg SIS ol 3TaC 5§ ITUHT
1 year at 4% per annum compounded . m
yearly and half yearly ? o &, &

(A) 2.4 Rs. (B) 1.4Rs. (A) 24=. (B) 1.4%.
(C) 2.0Rs. (D) 2.6 Rs. (C) 2.0%. (D) 2.6%.
% & & o em
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68. The increasing order of 68. 0.003, 0.0004, — 0.005, — 0.007 =1
0.003, 0.0004, — 0.005, — 0.007 is R FH &
(A) —0.007,—-0.005, 0.003, 0.0004 (A) —0.007,-0.005, 0.003, 0.0004
(B) —0.005, —0.007, 0.0004, 0.003 (B) —0.005, —0.007, 0.0004, 0.003
(C) —0.007, — 0.005, 0.0004, 0.003 (C) —0.007, — 0.005, 0.0004, 0.003
(D) —0.005,-0.007, 0.003, 0.0004 (D) —0.005,-0.007, 0.003, 0.0004
69. If 2x-1 4 2x+1 =320, then value of x is 69. 3fg 214 2¢+1 =320, x I HH &M
(A) 3 (B) 5 (A) 3 (B) 5
) 7 (D) 9 C) 7 (D) 9
70. The sum of two numbers is 42 and 70. T GEAISAT BT A 42 B qUT I HEWH
harHOF g OM e o and0 | et v oy et o o
ively. u i . . . .
of the said two numbers is 6021 3 & 3 2
1 11 1 11
L it A) — B)
A %0 ® %o A 5o ®) 50
13 7 13 7
— D) — C) — D) —
(0)60 ()60 ()60 ()60
71. The sum of two numbers is 42 and their 71. < HEA3 HI AN 42 TH 3T Agad
LCM is 208. The two numbers are gaIaE 208 81 S 9 AW
(A) 12,30 (B) 14,28 (A) 12,30 (B) 14,28
(C) 18,24 (D) 16, 26 (C) 18,24 (D) 16,26
72. IfP=25%0f25%0f200andQ=10% | 72. 7 P =200 % 25% %1 25% T
of 50% of 200, then P - Q = Q =200 T 50% T 10%, 99 P - Q =
(A) 12.5 (B) 2.5 (A) 125 (B) 2.5
(C) 10 (D) 60 (C) 10 (D) 60
TF & % foTe T
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73. Population increasing rates of two 73. <a e P aur Q <hi SHEEn gfg X sHA:
countries P and Q are 20% and 3% per o o :
annum respectively. Present population 20% T 3% Ffd A 2 | PAu QF
of P and Qare 7,00,000 and 10,00,000 ST 3FHET: 7,00,000 2T 10,00,000 7 |
respectively. After how many years e . ¥
population of P will become more than T WG P 6 ST QE !
that of Q ?

(A) 3 (B) 4 (A) 3 (B) 4
(C) 5 (D) None of these (C) 5 (D) 319 & s &l

74. Birth rate and death rate of a country 74. Uh <N 6 TH @ TF g ¢ HAM: 5%
are 5% and 3% respectively. Present ° g : T
population of that country is 5 x 107. e Sf’ 8l "I
Then what will become population of 5x 1072 | 7 10 9 &g 38 41 1 371eg]
that country after 10 years ? fepaft gt 2
(A) 6x107 (A) 6x 107
(B) 107 (B) 107
(C) 7x107 (C) 7x107
(D) None of these (D) = & &1$ T

4 4

75. The value of (0'5)2 (0'4)2 is 75 (0.5)* - (0.4)* W 2
(A) 0.09 (B) 0.90 (A) 0.09 (B) 0.90
(€) 041 (B) 031 (C) 0.41 (D) 0.31

3 3
76. The value of 76 (0.23)" - (0.01) S
(0.23)% — (0.01)° " (0.23)% +0.0023 +(0.01)
(0.23)? +0.0023 + (0.01)°
(A) 0.22 (B) 0.24 (A) 0.22 (B) 0.24
(C) 0.21 (D) 0.23 (C) 0.21 (D) 0.23
% & & o em

Space for Rough Work

Set-A



i

32102/MB - BB/RCE - M

77. lfa:b=1:2, then find the ratio 77. A a:b=1:2%, al AU
(5m +2n) : (5m - 2n). (5m + 2n) : (5m — 2n) ITd HIT |
(A) 1:9 (A) 1:9
(B) 9:1 (B) 9:1
(C) 2:1 (C) 2:1
(D) None of these (D) 3T & His &l
78. Aperson sell a pen-drive at Rs. 500 and 78. U =Afgd 500 %. T Ush U9-315d &=l &
makes 20% loss. If he wants to make 3 20% I gid1 21 Ife 38 15% o1y
15% profit, then at what price (in Rs.) HUFT 21, 1 3 frg Himd (3. §) § S=q1
should he sell ? 2T 7
(A) 625.00 (B) 725.15 (A) 625.00 (B) 725.15
(C) 718.75 (D) None of these (C) 718.75 (D) 3 & s &l
79. Atrader purchases a watch and a belt 79. U N 600 %. H Ush TSl o Ueh oed
for Rs. 600. He sells them making a Tiiedr g1 98 TS W 15% ¥ a7 See W
belt: He egrns a profit of Rs. 72, then o p— %, A T T Aew H HA 7o
buying prices of watch and belt are rm .
respectively E:
(A) 360, 240 (B) 240, 360 (A) 360, 240 (B) 240, 360
(C) 180, 420 (D) 420, 180 (C) 180, 420 (D) 420, 180
80. A certain sum becomes 2 times in 80. T TR HILRY 1S & 581 | 27 21 At
5 years at simple interest, then in how ®, A 5TA1 89 4 fehaaT ToRr &mm 7
many years it will become 5 times ?
(A) 12V years (B) 10 years (A) 12 = (B) 1099
(C) 20years (D) None of these (C) 2098 (D) T | g &l
TF & % foTe T
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PART - A (iii)
W — A (iii)
MENTAL ABILITY AND ANALYTICAL ABILITY Fhg &THa Ud fayerwoT e
81. Find the missing character. 81. 1%@3 31T TG hIfT |
F KLY FlKI|Y
H|F I[P H|F ([P
L E | ? L E | 2
(A) P (B) R (A) P (B) R
C) L (D) J (C) L (D) J
82. Find the missing number. 82. fuew 31 ! FTd X |
11719 11719
2 (14| 2 2 |14 ] ?
3 |105(117 3 |105[117
(A) 26 (B) 20 (A) 26 (B) 20
(C) 16 (D) 12 (C) 16 (D) 12
83. Choose the Figure which is different 83. 3 3MHfd & MU S I ¥ fir= 2|
from the rest.
(A) \, (B) 1—‘ (A) \, (B) ﬂ
(©) ) (D) % (©) ) (D) %
84. Find the odd one out. 84. fowm =l 94|
(A) Tortoise (B) Crab (A) g (B) el
(C) Frog (D) Fish (C) Uesh (D) weet
85. Find the odd one out. 85. fomwm =i gfw |
(A) 100-121 (B) 144 -—225 (A) 100-121 (B) 144-—225
(C) 16-25 (D) 36— 49 (C) 16-25 (D) 36— 49
% % o foTu T
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86. Inthe given series what number should 86. fea ¥ Avft ¥ 31T 3Tk T IR ?
come next ? 4,7,9,12, 14,17
4,7,9,12, 14,17, , 7,9,12,14,17,

(A) 21 (B) 20 (A) 21 (B) 20
(C) 19 (D) 18 (C) 19 (D) 18

87. Inthe given series what letters should 87. e T Avfl § 3TTeT 37 AT IR ?
come next ? AR. RCS
QAR, RCS, SET, TGU, ____ QAR, RCS, SET, TGU, .

(A) VIU (B) UIU (A) VIU (B) UIU
(C) THS (D) UIvV (C) THS (D) Ulv

88. Fig. (x) is embedded in any one of 88. 3TTeR(d (x)?ﬂﬁwﬁﬁﬁrﬁa@%ﬁﬁ
the four alternative Figures. Find the foreht wes # wf=ifed & | 39 faehew =t @t
alternative which contains Fig.(x). e s1mefa (x) &1 |
w (X @ | W] w X | @ | ¥
© |X7| o Z[} o |X7| © Z[}

89. Inagroup of 30 people, 14 read French, 89. 30kl T | 14 %d, 16 3TN e
16 read English, while 6 of them read Hohd & | STafeh 6 37 SHI HINT <hl 1 U Fehd
none of these two. How many of them BN ‘ !
read French and English both ? | 5 9 fohe gl W ve Tehd & 7
(A) 0 (B) 3 (A) O (B) 3
(C) 6 (D) 8 (C) 6 (D) 8

90. Find out the two signs to be interchanged 90. Trwfctfiard wHishtor <l TEl s o foru 3@
for making following equation correct. T gl arel g1 TergHl w1 aaT o |
5+3x8-12/4=3 5+43x8-12/4=3
(A) +and — (B) —and/ (A) + 3R — (B) — 3/

(C) +and x (D) +and/ (C) +3M x (D) + 3/
T & o o0 e
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91. Which of the following diagrams 91. = d 9 wia-ar fax feres, aAmar-foar w
indicates the best relation between sfiraras - zwita
’
Teacher, Parents and Guardians ? & T 8
@ e @B
000 0@ | «O0 (@
92. Which one of the following statements is 92. fa=fafiga § 9 SH-91 T %ed fed T
correct with regard to the given Figure ? e S aeudaa ? ?
C
A (B [\
N
(A) Dis in all the three shapes (A) Dusft =i smehfa # &
(B) E and F is in all the three shapes (B) E 3R F &t e amepdt o @
(C) EandD is in only two shapes (C) E 3R D %hae @ 3Tkt | &
(D) Fis in only two shapes (D) Fhad @ 3Tt | &
93. If Z=52 and MAT = 53, then JAT will 93. 3Ife Z =52 3 MAT = 53, @l JAT ST
be equal to 2
(A) 62 (A) 62
(B) 50 (B) 50
(C) 58 (C) 53
(D) None of the above (D) IWied & ¥ HIE Tl
94. If MILITARY can be written as 94. afe MILITARY &1 1,2, 3,2, 4,5,6,7
1,2,3,2,4,5, 6, 7, then how can foEa %’ ar TIMLI &1 &8 fo@T ?
TIMLI be written in that code ?
(A) 2,3,1,4,2 (B) 4,2,1,3,2 (A) 2,3,1,4,2 (B) 4,2,1,3,2
(C) 4,2,1,5,7 (D) 3,4,5,1,6 (C) 4,2,1,5,7 (D) 3,4,5,1,6
TF & o foru wam
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95. A Cube is painted red on two adjacents
face and black on the faces opposite to
the red faces and green on the remaining
faces, is cut into 125 smaller cubes of
equal size, how many cube are there
which have no face painted ?

(A) 16
(C) 27

(B) 25
(D) 64

96. With reference to the following four

positions of the dice, find out the number
which is opposite to the face 3.

TR

4
(C) 5 (D) 6

97. Two positions of a dice are shown
below, when 3 points are at the bottom,
how many points will be at the top ?

32102/MB - BB/RCE - M

95. Ueh ©F o & ATE HeTohl bl oflcd TT &
I AT HeAhl o [IURT HeTehl ol hicd
T H qUT Y FeAshl 1 & TT F U= femam
AT 2 | 319 39 89 1 125 SR HATHR
& BIE-BIC B § Hre fear Srar & | W

AT bl G 71 R foEeRT i ol o
U TE B2 |

(A) 16 (B) 25

(C) 27 (D) 64

96. TUH €H o fA=fcifad =R fRufd eEet
-1 375 T Heleh 3 o faqdid 8T ?

PG

1 (B) 4
(C) 5 (D) 6

07, wigm 1 & Feufe € B 1 3l o g
2 3, 1 foret forg A 7

e o e o e o e o
%o e%e e%e e °’e
@ [ ] ® [ ] Y
e o o ° o o °
° o o
(A) 2 (B) 5 (A) 2 (B) 5
(C) 4 (D) 6 (C) 4 (D) 6
T & o o0 e
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98. Findthe number of triangle in the given 98. fa ™ faad st < T T cxgl
Figure.
(A) 5 (A) 5
(B) 8 (B) 8
€ 9 ©) 9
(D) 10 (D) 10
99. What is the number of rectangle in the 99. fo¥ M fo ® fobae o 8 7
following Figure ? |
I
(A) 9 (A) 9
(B) 10 (B) 10
(c) 11 (c) 11
(D) None of the above (D) I U ¥ hls &
100. Find the missing term in the following | 100. fed ™ yoa # foeea ug &1 J1d & |
questions.
(A) 18 (A) 18
(B) 19 (B) 19
(C) 20 (C) 20
(D) None of the above (D) Iuled | § B3 TRl
T HE o foru wem
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PART - B
T -B
HINDI/ f&=<t
101.  wfeRinft wder s dar & Sh-dlg Fgqa st | 105. 6 § Yg 991 @
TETH A I AR TS | (A) e < e Tepet Ig Tl S |
(feer T 90 wéieh geTel 1 FET Hife | (B) # Tfear % fei Tpat T8 S |
(A) 3T | HET TS S T (C) # Teram 1 whet A&l Sl |
(B) 310 T W @I g3 (D) Ugam & fe wpet & geran |
(C) 3T e ST g3
(D) <o @1 o 1 TET & 106. =1 # ¥ @&l weg &9 A |
(A) HHICTLE
102. “Joo]-¥R It | g9 AT HaToR &l Gl (B) HeHTeTdl el
3 7 (C) HPIeA
(A) ool ¥ UM W B 3EE BT (D) 3Iwwd # | HIE T
(B) 3T T
(C) <=l Sl TATIIN LT 107. ‘u{l 9eTs W 98d UM Bl @l & a9 |
(D) eifsrd g Iqfg @
(A) =1 gah
103. “¥d =W, |d U1 | SR «3ieT af Th T |” (B) fsran waieh
wmiwaﬁ%aﬁ% () e e
(A) wely - (B) Few( (D) ot e
(C) Twudt (D) zmEgy
. ) 108. fivemmens 319 o wel I B
104. @ﬁﬁl‘lﬂ?ﬁl 1 TS JETal 3 ) A R
(A) =T T FEA
®) 5 3 o oo (B) WY UL @ & |
() e T (C) W U & @rar 2|
(D) *t ¥ e e (D) T T @ @ o |
T & o o0 e
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109.

110.

111.

112.

freferfea & wged w2

(A) T (B) 31

©) ¥ (D) Sw @t
frafafga § wgmm = 48 8
(A) = (B) =

(C) w (D) s
frefaRea o Shfem o 2

(A) &t (B) &

(C) = (D) =

FfcTRad o shaer -sga=H &l 9al-JH
& g

115.

116.

117.

32102/MB - BB/RCE - M

‘ST TS TSRS | “ShTeAT I1eg § SRSl
o a1 A AR ?

(A) ‘=T g b faear forem

(B) ‘=ver wreg W =1 wATfed g%

(C) “=IST W&t H1 HEA §¢ T

(D) = & *I3 Tl

= feu T vregi | YT WT6g 1 T
I |

(A) Taerarn
(C) gt

(B) Iaam
(D) sRmm

31eq formg ferga () <t 3w fope T @
frm ST B 7

(A) T (B) S-=w (A) 9 T & WG 9g % - W=l B
©) Fmda (D) @ 1 3 T €
(B) m@ﬁwﬁa%aﬁmmw

113, wfETEE o SN 3Tel 3R 3%k o1 forehed H Tg=aae
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Note :
1. This question Booklet contains Parts —

Q. No.
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